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248 =8 4 2| LRSI SFAY
FA I
M BAQY olgtatel
ol QEEE HiE2el EER=E)
SA - HE - SRA(BIH) - ARAY - BAS 0 & ol 8 o tmE==T
A4 6,459,347 5,548,611 910,736
= 739,698 739,698 0
z 77,500 77,500 0
2l 129,300 129,300 0
S 20,000 20,000 0
< 141,015 145,815 24,800
= 5,351,834 4,436,298 915,536
g olgael 285,013 247,013 38,000
= 77,250 77,250 0
< 41,640 41,640 0
s 166,123 128,123 38,000
QHSE sz 265,473 227,473 38,000
= 77,250 77,250 0
< 41,640 41,640 0
= 146,583 108,583 38,000
IIASEI(GP) M2ZEX XA 85,250 47,250 38,000
= 26,250 26,250 0
< 6,300 6,300 0
= 52,700 14,700 38,000
401 AlEBIYL S THYI 55,890 0 55,890
= 9,940 0 9,940
< 2,385 0 2,385
= 43,565 0 43,565
01 AlZHI 55,890 0 55,890
O HAZBEBI(GP)NZEXI X XI&A 55,890 0 55,890
= 9,940 0 9,940
[ 2,385 0 2,385
T 43,565 0 43,565
402 QIZEXH201H 29,360 47,250 A17,890
= 16,310 26,250 29,940
[ 3,915 6,300 12,385
i 9,135 14,700 15,565
02 QI TH2AILEE (01X THE) 29,360 47,250 A17,890
O IMASEI(GP) MZEX &X XA 29,360 47,250 A17,890
= 16,310 26,250 29,940
< 3,915 6,300 12,385
= 9,135 14,700 5,565
tholgtd =4 307,979 327,979 ~20,000
s 77,500 77,500 0
[ 3,540 3,540 0
= 226,939 246,939 £20,000
o8 x = 307,979 327,979 ~20,000
s 77,500 77,500 0




FA I
MM S 018 =4
Celr toIEadxE (SH &)
SA - B GR(31) - HIRAY - BES il &k ol @ o HimE=T
[ 3,540 3,540 0
= 226,939 246,939 £20,000
AHAEX] X OHS AL 0 20,000 ~20,000
402 RIZERH20IH 0 20,000 £20,000
01 QI X2 AL E A (KHHITHE) 0 20,000 20,000
O QSR AHLX HEAY 0 20,000 20,000
MRt =2SFxY 4,442,393 4,447,193 14,800
= 500,000 500,000 0
Jl 129,300 129,300 0
= 20,000 20,000 0
< 21,300 26,100 24,800
= 3,771,793 3,771,793 0
FEESHEH 816,883 821,688 24,800
s 20,000 20,000 0
< 0 4,800 24,800
= 796,888 796,888 0
Kot YRS o=+ 11,200 16,000 24,800
< 0 4,800 24,800
= 11,200 11,200 0
401 AlZBIL S THYI 11,200 16,000 24,800
(= 0 4,800 24,800
s 11,200 11,200 0
01 AlEZHI 11,200 16,000 24,800
O Xlots= &XE Ha=7 11,200 16,000 24,800
[ 0 4,800 24,800
= 11,200 11,200 0
Wees(eZeidn) 962,710 65,174 897,536
FSPNES 962,710 65,174 897,536
= HIBES 962,710 65,174 897,536
802 grat=DIE 962,710 65,174 897,536
01 2NEXIEE= 955,267 57,983 897,284
O 2gsge 89 43,901 43,867 K7
O IIEEL SZHLIANE(SELZSIAY)
EXIMS =Hl L Ok 603,869 0 603,869
O 20234 JIAZHEI HiEIIA H2ZEX 2=
XI& AL (OIXHEE) 1,049 0 1,049
O IIEEr SSHeAME SFIHHAY &
OI Xt 292,332 0 292,332
02 Al - SHIEXZEHEZ 7,443 7,191 252
O 20234 JIAZHEI HIE0tA MZEX 22
KA (OIXt) 252 0 252
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